KRMSMANN TPIBEIO EKKENTPO NEPIZTPO®IKO 0125 350W 9172

POWTER TOOLS ORBITAL ROTARY SANDER 9125 350W

2
o

. NEPIFPA®H n
Housing |
Switch
Switch cover
Bearing 607 2RS
V.S. PCB
Tapping screw ST3.9x19
Cord guard
Cord
Stator
Dust collection boxcover
Filter paper
Filter paper clamp
Rotor
Bearing 6000 2RS
Washer
Dust box
Fan
Counterbalance
Type ring
Eccentric seat
Dustproof washer
Bearing block
Bearing 6000RS
Washer
Spring washer 5
Hexagon screw M5x16
Rubber dust duct
Brake ring
Large washer
Rubber backing pad
Special screw M5x18

M

®

I

MV‘W
ARV ® @]
O

.‘\’

_b4_\_\_\_\_\44AAANAAAA_\_\_\_\_\AAAQA_\_\AAO

WWNRNNNNNNRNNRN= = & o s s
SOV NOURAWN - OQOOVINOTUNDAWN=-OWVWO®NOUWN =




